Funds to be collected from the User Agency in lieu of diversion of 2.0401 Ha. Forest land in Bandalingapur RF of Jagtial District for Construction of 400 KV QMDC Line from STPP Jaipuram in Adilabad District to 400 KVSS Nirmal, Nirmal District under Nirmal Power Transmission Scheme in Jagtial District in favour of Superintending Engineer, Karimnagar, TS TRANSCO,.

Sl.No.	Item	Amount (in Lakhs)	
1.	NPV charges 2.0401 Ha. @ 6.260 Lakhs/ Ha. = 12.771 Lakhs	charges 2.0401 Ha. @ 6.260 Lakhs/ Ha. = 12.771 Lakhs	
2.	Extraction and transportation of tree growth	1.403	
3.	Regeneration Scheme in the effected area in Compt. No.401 of Gannegutta RF of Ibrahimpatnam Beat & Section of Metpally Range of Jagtial District.	39.895	
4.	CA charges over 4.0802 Ha. (2.0401 x 2= 4.0802 Ha.)	43.6698	
5.	User Charges for conducting the survey in the proposed site	0.030	
	Total:	97.7688	

District Forest Officer, JAGTIAL.

- 2/9-

NON-VIOLATION CERTIFICATE

It is certified that, in the proposed Project i.e. Diversion of 2.0401 Ha. Of forest

land in Bandalingapur RF, Jagtial District for grant of for Construction of 400 KV

QMDC Line from STPP Jaipuram in Adilabad District to 400 KVSS Nirmal, Nirmal

District under Nirmal Power Transmission Scheme in Jagtial District in favour of

Superintending Engineer, Karimnagar, TS TRANSCO, no work has been carried out in

violation of the Forest Conservation Act., and Wildlife Act.,

District Forest Officer, JAGTIAL.

NET PRESENT VALUE CALCULATION SHEET

Diversion of 2.0401 Ha. of Forest land in Gannegutta RF, Metpally Range of Jagtial Division for Construction of 400 KV QMDC Line from STPP Jaipuram in Adilabad District to 400 KVSS Nirmal, Nirmal District under Nirmal Power Transmission Scheme in Jagtial District in favour of Superintending Engineer, TS, TRANSCO, Karimnagar

Sl.No.	Item	Amount (in Lakhs)
1.	NPV charges 2.0401 Ha. @ 6.260 Lakhs/ Ha. = 12.771 Lakhs	
2.	Extraction and transportation of tree growth	1.403
3.	Regeneration Scheme in the effected area in Compt. No.401 of Gannegutta RF of Ibrahimpatnam Beat & Section of Metpally Range of Jagtial District.	39.895
4.	CA charges over 4.0802 Ha. (2.0401 x 2= 4.0802 Ha.)	43.6698
5.	User Charges for conducting the survey in the proposed site	0.030
	Total:	97.7688

District Forest Officer, JAGTIAL.

CALCULATION OF NET PRESENT VALUE OF PROPOSED AREA FOR DIVERSION

1	Name of the Project	:	Diversion of 2.0401 Ha. Of Forest Land for Construction of 400 KV QMDC Line from STPP Jaipuram in Adilabad District to 400 KVSS Nirmal, Nirmal District under Nirmal Power Transmission Scheme in Jagtial District in favour of Superintending Engineer, TS, TRANSCO, Karimnagar.
2	Proposed Forest area for diversion	:	2.0401 Ha.
3	Eco-Class	:	Eco-Class-III
4	Density	:	0.2
5	Eco-Value	:	Trophical Dry Deciduous Forests
6	NPV rate per Ha., for open forest for Eco-ClassIII	:	Rs. 6,26,000/-
7	NPV value for area proposed for diversion = 2.0401 x 6.26 Lakhs = 12.771 Lakhs	:	Rs. 12.771 Lakhs

District Forest Officer, JAGTIAL.